

ON THE AVERAGE HYPEROSCILLATIONS OF PLANTED PLANE TREES

Peter KIRSCHENHOFER and Helmut PRODINGER

Received 16 September 1981

Assume that the leaves of a planted plane tree are enumerated from left to right by $1, 2, \dots$. The j -th s -turn of the tree is defined to be the root of the (unique) subtree of minimal height with leaves $j, j+1, \dots, j+s-1$. If all trees with n nodes are regarded equally likely, the average level number of the j -th s -turn tends to a finite limit $\alpha_s(j)$, which is of order $j^{1/2}$. The j -th " s -hyperoscillation" $\alpha_1(j) - \alpha_{s+1}(j)$ is given by $\frac{1}{2} \alpha_1(s) + O(j^{-1/2})$ and therefore tends (for $j \rightarrow \infty$) to a constant behaving like $\sqrt{8/\pi} \cdot s^{1/2}$ for $s \rightarrow \infty$. These results are obtained by setting up appropriate generating functions, which are expanded about their (algebraic) singularities nearest to the origin, so that the asymptotic formulas are consequences of the so-called Darboux-Pólya-method.

1. Introduction

In a recent paper [11] R. Kemp studies the average oscillation of a stack during postorder traversing of a binary tree. The problem turns out to be equivalent with the study of the average level number of the so-called "MAX-turns" resp. "MIN-turns" of a planted plane tree, which are defined in the following way:

The MAX-turns are just the leaves of the tree (i.e. the nodes having no son), which are assumed to be enumerated from left to right by the natural numbers. The j -th MIN-turn is the root of the (uniquely determined) subtree of minimal height which has exactly the two leaves j and $j+1$. (Compare the examples in [11].) The average level number of the j -th MAX- (MIN-)turn of all planted plane trees with exactly n nodes (where all such trees are regarded equally likely) converges for $n \rightarrow \infty$ to a finite limit $\alpha_1(j)$ resp. $\alpha_2(j)$. (In Kemp's notation these numbers equal $\alpha_1(j) = \lim_{n \rightarrow \infty} \ell_n(j)$, $\alpha_2(j) = \lim_{n \rightarrow \infty} r_n(j)$.) Kemp shows that these numbers have the following asymptotic behaviour for $j \rightarrow \infty$: [11, Corollary 6]

$$(1.1) \quad \begin{aligned} \alpha_1(j) &= \frac{8}{\sqrt{2\pi}} j^{1/2} + 1 + O(j^{-1/2}), \\ \alpha_2(j) &= \frac{8}{\sqrt{2\pi}} j^{1/2} - 1 + O(j^{-1/2}). \end{aligned}$$

The difference

$$(1.2) \quad \alpha_1(j) - \alpha_2(j) = 2 + O(j^{-1/2})$$

describes the average oscillation of the contour of the trees.

Regarding these results, it is natural to consider the following more general problem: Define the j -th " s -turn" (for a tree with at least $j+s-1$ leaves) to be the root of the (uniquely determined) subtree of minimal height with leaves $j, j+1; \dots, j+s-1$. The 1-turns (2-turns) are just the MAX-turns (MIN-turns) from above. Let $\alpha_s(j)$ denote the average level number of the j -th s -turn of all planted plane trees with exactly n nodes "for large n " (that means the limit of the mean value for $n \rightarrow \infty$). We will show that the differences $\alpha_1(j) - \alpha_{s+1}(j)$, which can be called the j -th " s -hyperoscillations" of the trees, behave like

$$(1.3) \quad \alpha_1(j) - \alpha_{s+1}(j) = \frac{\alpha_1(s)}{2} + O(j^{-1/2}), \quad (j \rightarrow \infty)$$

and therefore

$$\alpha_{s+1}(j) = \frac{8}{\sqrt{2\pi}} j^{1/2} - \varrho_s + O(j^{-1/2}), \quad (j \rightarrow \infty)$$

with

$$\varrho_s = \sqrt{\frac{8}{\pi}} s^{1/2} - \frac{1}{2} + O(s^{-1/2}), \quad (s \rightarrow \infty).$$

We would like to emphasize that the interest of this paper is largely methodological: Our way of handling the problem does *not* follow the classical approach of first deriving exact enumeration results and afterwards using approximations, but it heavily relies on the pure use of appropriate generating functions and the principle that the coefficients of a generating function are largely determined by the location and nature of its singularities. The advantage of this method is, that it will be applicable even in those cases where no exact enumeration formulas are available. (Compare e.g. [5], [13], [15], where a similar philosophy is underlying.)

At the end of the paper we give an extensive list of papers dealing with related problems.

Remark. In the following we will frequently use the abbreviation $\langle f(x), x^i \rangle$ for the coefficient of x^i in the (formal) power series $f(x)$.

2. Generating functions

Using a suggestive terminology due to Ph. Flajolet [3] the family \mathcal{B} of planted plane trees (sometimes also called "ordered trees") can be defined by the following formal equation.

$$(2.1) \quad \mathcal{B} = \circ + \begin{array}{c} \circ \\ | \\ \mathcal{B} \end{array} + \begin{array}{c} \circ \\ / \quad \backslash \\ \mathcal{B} \quad \mathcal{B} \end{array} + \begin{array}{c} \circ \\ / \quad \backslash \quad / \quad \backslash \\ \mathcal{B} \quad \mathcal{B} \quad \mathcal{B} \quad \mathcal{B} \end{array} + \dots$$

An immediate consequence is the well-known equation

$$(2.2) \quad C(z) = z + zC(z) + zC^2(z) + \dots = \frac{z}{1 - C(z)}$$

for the generating function of the numbers $\langle C(z), z^n \rangle$ of planted plane trees with exactly n nodes (Catalan numbers).

For the sequel it is necessary to make some definitions: ("tree" will always denote a planted plane tree)

$t_s(n, \lambda)$... the number of trees with n nodes and λ s -turns

$$(2.3) \quad F_s(z, y) := \sum_{n \geq 1} \sum_{\lambda \geq 0} t_s(n, \lambda) z^n y^\lambda; \quad F(z, y) := F_1(z, y).$$

(That means $C(z) = F(z, 1)$.)

Relation (2.1) implies (compare [11])

$$(2.4) \quad F(z, y) = zy + \frac{zF(z, y)}{1 - F(z, y)} = z(y-1) + \frac{z}{1 - F(z, y)}.$$

Further we set

$$(2.5) \quad F_{s;j}(z, y) := \sum_{n \geq 1} \sum_{\lambda \geq j} t_s(n, \lambda) z^n y^\lambda, \quad C_{s;j} := F_{s;j}(z, 1)$$

for the corresponding generating functions of the trees with at least j s -turns.

Let $G_{s;j}^{[h]}(z)$ denote the generating function of the number of trees with at least j s -turns and a level number of the j -th s -turn which is greater than h (≥ 0) and

$$(2.6) \quad H_{s;j}(z) := \sum_{h \geq 0} G_{s;j}^{[h]}(z).$$

The coefficient of z^n in this last power series is just the sum of level numbers of the j -th s -turn. In order to derive a recurrence relation for the functions $H_{s;j}$ we first observe that the following holds:

Lemma 1. For all $h \geq 0, j \geq 1$

$$(2.7) \quad G_{s;j}^{[h+1]}(z) = z \sum_{t \geq 1} \sum_{r=0}^{t-1} C(z)^{t-1-r} \sum_{i=0}^{j-1} \langle F(z, y)^r, y^i \rangle G_{s;j-i}^{[h]}(z).$$

Proof. Observe that by $h+1 \geq 1$ only those trees give a nonzero contribution to the series $G_{s;j}^{[h+1]}$, the j -th s -turn of which is *not* situated in the root. Let $r+1$ denote the number of that one of the t subtrees of the root, in which the j -th s -turn is situated. The first factor in the sum over r in (2.7) is constituted by the fact, that there is no restriction for the subtrees $r+2, \dots, t$ (because they are situated on the right of the subtree in question). The sum-over- i -term originates from the observation, that the j -th s -turn of the tree is the $j-i$ -th s -turn of the $r+1$ -st subtree of the root iff the first r subtrees contain together i leaves. (If the j -th s -turn does not lie in the root, it must be situated in the same subtree as the j -th leaf.) ■

Lemma 2. For all $j \geq 1$

$$(2.8) \quad H_{s;j}(z) = C_{s;j}(z) + \frac{z}{1 - C(z)} \sum_{i=0}^{j-1} \left\langle \frac{1}{1 - F(z, y)}, y^i \right\rangle H_{s;j-i}(z).$$

Proof. Summing up in (2.7) and regarding that

$$G_{s;j}^{[0]}(z) = C_{s;j}(z)$$

yields

$$H_{s;j}(z) = C_{s;j}(z) + z \sum_{i \geq 1} \sum_{r=0}^{i-1} C(z)^{i-1-r} \sum_{i=0}^{j-1} \langle F(z, y)^r, y^i \rangle H_{s;j-i}(z)$$

which equals

$$C_{s;j}(z) + z \sum_{i=0}^{j-1} H_{s;j-i}(z) \sum_{r \geq 0} \langle F(z, y)^r, y^i \rangle \sum_{i-1 \geq r} C(z)^{i-1-r}$$

and this is just the right side of equation (2.8). ■

The following considerations simplify very much by the use of the double generating function

$$(2.9) \quad H_s(z, y) := \sum_{j \geq 1} H_{s;j}(z) y^j.$$

Lemma 3. $H_s(z, y) = \frac{y}{z(1-y)^2} \cdot \Delta(z, y) \cdot \Delta_s(z, y)$, where

$$(2.10) \quad \Delta(z, y) := C(z) - F(z, y), \quad \Delta_s(z, y) := C(z) - F_s(z, y).$$

Proof. By (2.8)

$$H_s(z, y) = \sum_{j \geq 1} y^j C_{s;j}(z) + \frac{z}{1-C(z)} \frac{1}{1-F(z, y)} H_s(z, y).$$

Abel's summation formula shows that

$$\begin{aligned} \sum_{j \geq 1} y^j C_{s;j}(z) &= \sum_{j \geq 1} [C_{s;j}(z) - C_{s;j+1}(z)] \frac{y^{j+1} - y}{y-1} = \\ &= \sum_{j \geq 1} \langle F_s(z, y), y^j \rangle \frac{y^{j+1} - y}{y-1} = \frac{y}{1-y} \Delta_s(z, y). \end{aligned}$$

Relations (2.2) and (2.4) establish

$$\begin{aligned} \frac{z}{[1-C(z)][1-F(z, y)]} &= \frac{1}{\Delta(z, y)} \left[\frac{z}{1-C(z)} - \frac{z}{1-F(z, y)} \right] = \\ &= \frac{1}{\Delta(z, y)} [\Delta(z, y) - z(1-y)] \end{aligned}$$

from which the result is immediate. ■

The desired average level numbers $\alpha_s(j)$ of the j -th s -turn "for large n " are given by the limit

$$(2.11) \quad \alpha_s(j) = \lim_{n \rightarrow \infty} \frac{\langle H_{s;j}(z), z^n \rangle}{\langle C(z), z^n \rangle}.$$

In the following we will derive a theorem characterizing the generating functions

$$(2.12) \quad A_s(y) := \sum_{j \geq 1} \alpha_s(j) y^j$$

of these numbers, the proof of which is established by investigating the behaviour of the functions $C(z)$ and $H_{s;j}(z)$ around their (algebraic) singularity $q (= 1/4)$

nearest to the origin and does not depend on any knowledge of the explicit values of $t_s(n, \lambda)$.

By (2.2) we have

$$(2.13) \quad C(z) = \frac{1}{2} [1 - \sqrt{1 - 4z}] = C(q) - (q - z)^{1/2}, \quad (z \rightarrow q^-)$$

where $q = \frac{1}{4}$ is the unique singularity of $C(z)$ on its circle of convergence.

A similar expansion holds for the functions $H_{s;j}(z)$:

Lemma 4.

$$(2.14) \quad H_{s;j}(z) = H_{s;j}(q) - a_{s;j}(q - z)^{1/2} + O((q - z)), \quad (z \rightarrow q^-)$$

where $q = \frac{1}{4}$ is the unique singularity on the circle of convergence.

Proof. Lemma 2 and Relations (2.2), (2.4) show that

$$H_{s;j}(z) = C_{s;j}(z) + C(z) \left[H_{s;j}(z) + \sum_{i=1}^{j-1} \left\langle \frac{F(z, y)}{z} + 1 - y, y^i \right\rangle H_{s;j-i}(z) \right]$$

or equivalently

$$H_{s;j}(z) = \frac{1}{z} C(z) C_{s;j}(z) + \frac{1}{z} C^2(z) \sum_{i=1}^{j-1} \left\langle \frac{F(z, y)}{z} - y, y^i \right\rangle H_{s;j-i}(z) \quad \text{for all } j \geq 1.$$

From this, by induction, it is sufficient for the proof of the lemma to show

a) that each of the functions $C_{s;j}(z)$ allows an expansion

$$(2.15) \quad C_{s;j}(z) = C_{s;j}(q) - (q - z)^{1/2} + O((q - z)), \quad (z \rightarrow q^-) \quad \text{and}$$

b) that for any fixed i the series $\langle F(z, y), y^i \rangle$ in z has a radius of convergence greater than q . (In fact it is 1.) Observing that a tree has j s -turns, iff it has $j + s - 1$ leaves (for $j \geq 1$; the case $j = 0$ corresponds to a number of leaves in the interval $[1, s - 1]$)

$$C_{s;j}(z) = C_{1;j+s-1}(z) = C(z) - \sum_{i=1}^{j+s-2} \langle F(z, y), y^i \rangle$$

and (2.15) is proved, if we prove assumption b). Now (2.4) shows

$$(2.16) \quad F(z, y) = \frac{1}{2} \left(1 - z(1 - y) - \sqrt{(1 + z(1 - y))^2 - 4z} \right),$$

which means, that for any fixed $0 < y_0 \leq 1$ the series $F(z, y_0)$ has radius of convergence $(1 + \sqrt{y_0})^{-2}$ (the term beyond the square root vanishes for $z = (1 \pm \sqrt{y_0})^{-2}$). A fortiori, each of the coefficient series $\langle F(z, y), y^i \rangle$ must converge for $|z| < (1 + \sqrt{y_0})^{-2}$ ($0 < y_0 \leq 1$), which means for any z with $|z| < 1$ ($t_1(n, \lambda) \geq 0!$). ■

By a well-known theorem of Darboux—Pólya (comp. [2, p. 277], [7, p. 211f], [15])

$$(2.17) \quad \langle C(z), z^n \rangle \sim \frac{1}{2} \sqrt{\frac{q}{\pi}} q^{-n} n^{-3/2}$$

$$\langle H_{s;j}(z), z^n \rangle \sim \frac{a_{s,j}}{2} \sqrt{\frac{q}{\pi}} q^{-n} n^{-3/2} \quad (n \rightarrow \infty)$$

and therefore

$$(2.18) \quad \alpha_s(j) = a_{s,j}.$$

This last relation may be expressed in a shorter form:

$$(2.19) \quad A_s(y) = \lim_{z \rightarrow q^-} \frac{H_s(q, y) - H_s(z, y)}{(q - z)^{1/2}}$$

where the limit shall be understood as to be carried out for each coefficient of the term, which is considered as a formal power series in y . Lemma 3 leads now to the following

Theorem 1. *The generating function of the average level numbers of the j -th s -turn ($j \geq 1$) "for large n " is given by*

$$(2.20) \quad A_s(y) = \frac{4y}{(1-y)^2} (\Delta(q, y) + \Delta_s(q, y)).$$

Proof. Let $O_y(q-z)$ denote a formal power series in y , the coefficients $f_j(z)$ of which are functions in z behaving like $f_j(z) = O(q-z)$ for $z \rightarrow q^-$. (The O -constant may depend on j .) With this notion we have

$$(2.21) \quad \begin{aligned} \Delta(z, y) &= \Delta(q, y) - (q-z)^{1/2} + O_y(q-z) \\ F_s(z, y) &= F_s(q, y) + O_y(q-z) \end{aligned}$$

by the same argument as in the proof of Lemma 4, and therefore

$$(2.22) \quad \Delta_s(z, y) = \Delta_s(q, y) - (q-z)^{1/2} + O_y(q-z).$$

Inserting (2.21) and (2.22) in Lemma 3 completes the proof. ■

Observing

$$(2.23) \quad F(z, y) = y \cdot F_2(z, y)$$

the theorem allows to determine $A_1(y)$ and $A_2(y)$ immediately:

Corollary 1. *The generating function of the average level numbers of the j -th MAX-(MIN-)turn "for large n " is given by*

$$(2.24) \quad A_1(y) = \frac{1}{1-y} + \frac{2\sqrt{2}}{(1-y)^{3/2}} \left(1 + \frac{1-y}{8}\right)^{1/2}$$

$$A_2(y) = A_1(y) - \frac{2}{1-y} + \frac{1-y}{2y} \cdot A_1(y).$$

Proof. By (2.16) we obtain

$$(2.25) \quad \Delta(q, y) = C(q) - F(q, y) = \frac{1-y}{8} + \frac{(1-y)^{1/2}}{2\sqrt{2}} \left(1 + \frac{1-y}{8}\right)^{1/2},$$

thereby the first equation of (2.24). By (2.23)

$$\Delta_2(y) = C(q) - \frac{F(q, y)}{y}$$

and thus

$$\Delta(y) + \Delta_2(y) = \left(2 + \frac{1-y}{y}\right) \Delta(y) - \frac{1-y}{y} C(q)$$

yielding the second identity of (2.24). ■

So $A_1(y)$ and $A_2(y)$ have algebraic singularities at $y=1$, and the Darboux—Pólya-theorem establishes (1.1).

3. The average hyperoscillation

This section is devoted to the analysis of the asymptotic behaviour of the numbers $\alpha_s(j)$ for general s and $j \rightarrow \infty$. We start with the investigation of the functions $A_1(y) - A_{s+1}(y)$, that is with the generating functions of the j -th “ s -hyperoscillations” $\alpha_1(j) - \alpha_{s+1}(j)$ (compare the comments in the introduction). The following theorem shows that there is an interesting symmetry in the behaviour of $\alpha_1(j) - \alpha_{s+1}(j)$ if considered as a function either of j (with fixed s) or of s (with fixed j).

Theorem 2. *The double generating function*

$$(3.1) \quad A(y, u) := \sum_{j \geq 1} \sum_{s \geq 1} y^j u^s (\alpha_1(j) - \alpha_{s+1}(j))$$

of the j -th “ s -hyperoscillation” fulfills

$$(3.2) \quad A(y, u) = \frac{4uy}{(1-y)(1-u)} \left[\frac{\Delta(q, u) - \Delta(q, y)}{y-u} \right].$$

Proof. We will make use of the fact that, by the definitions,

$$(3.3) \quad F_s(z, y) = \frac{F_{1;s}(z, y)}{y^{s-1}} + [C(z) - C_{1;s}(z)].$$

By Theorem 1

$$A(y, u) = \sum_{s \geq 1} u^s [A_1(y) - A_{s+1}(y)] = \frac{4y}{(1-y)^2} \sum_{s \geq 1} u^s [\Delta(q, y) - \Delta_{s+1}(q, y)] =$$

and with Abel’s summation formula

$$\begin{aligned} &= \frac{4yu}{(1-y)^2(1-u)} \left[\Delta(q, y) + \sum_{s \geq 1} (1-u^s) [\Delta_{s+2}(q, y) - \Delta_{s+1}(q, y)] \right] = \\ &= \frac{4yu}{(1-y)^2(1-u)} \left[\Delta(q, y) - \Delta_2(q, y) - \sum_{s \geq 1} u^s [\Delta_{s+2}(q, y) - \Delta_{s+1}(q, y)] \right] = \end{aligned}$$

which equals by (2.23) and (3.3)

$$\begin{aligned} &= \frac{4yu}{(1-y)^2(1-u)} \left[-F(q, y) + \frac{F(q, y)}{y} + (1-y) \sum_{s \geq 1} u^s \frac{F_{1;s+1}(q, y)}{y^{s+1}} \right] = \\ &= \frac{4yu}{(1-y)(1-u)} \left[\frac{1}{y} F(q, y) + \frac{1}{y} \sum_{s \geq 1} \left(\frac{u}{y} \right)^s F_{1;s+1}(q, y) \right] = \end{aligned}$$

and again by Abel's summation formula

$$\begin{aligned} &= \frac{4yu}{(1-y)(1-u)} \left[\frac{1}{y} F(q, y) + \frac{1}{y} \sum_{s \geq 1} \frac{\frac{u}{y} - \left(\frac{u}{y} \right)^{s+1}}{1 - \frac{u}{y}} \times \right. \\ &\quad \left. \times [F_{1;s+1}(q, y) - F_{1;s+2}(q, y)] \right] = \\ &= \frac{4yu}{(1-y)(1-u)} \left[\frac{1}{y} F(q, y) + \frac{1}{y} \frac{u}{y-u} F_{1;2}(q, y) - \right. \\ &\quad \left. - \frac{1}{y-u} \sum_{s \geq 1} u^{s+1} \langle F(q, y), y^{s+1} \rangle \right] = \\ &= \frac{4yu}{(1-y)(1-u)} \left[\frac{1}{y} F(q, y) + \frac{1}{y} \frac{u}{y-u} [F(q, y) - y(C(q) - C_{1;2}(q))] - \right. \\ &\quad \left. - \frac{1}{y-u} [F(q, u) - u(C(q) - C_{1;2}(q))] \right] = \\ &= \frac{4yu}{(1-y)(1-u)} \left[\frac{1}{y-u} F(q, y) - \frac{1}{y-u} F(q, u) \right] \end{aligned}$$

from which (3.2) follows immediately. ■

Theorem 2 allows to transfer the knowledge about the asymptotic behaviour of $\alpha_1(j), j \rightarrow \infty$, (Relation (1.1)) to the behaviour of $\alpha_{s+1}(j)$:

Corollary 2.

$$(3.4) \quad \alpha_{s+1}(j) = \alpha_1(j) - \frac{\alpha_1(s)}{2} + O(j^{-1/2}), \quad (j \rightarrow \infty)$$

or equivalently

$$\alpha_{s+1}(j) = \frac{8}{\sqrt{2\pi}} j^{1/2} - \varrho_s + O(j^{-1/2}), \quad (j \rightarrow \infty)$$

with

$$(3.5) \quad \varrho_s = \sqrt{\frac{8}{\pi}} s^{1/2} - \frac{1}{2} + O(s^{-1/2}), \quad (s \rightarrow \infty).$$

Proof. Using the notion $O_u(f(y))$ as defined in the proof of Theorem 1, we have by (3.2) and (2.25)

$$\begin{aligned} A(y, u) &= \frac{4u}{(1-y)(1-u)} \left[\frac{\Delta(q, u) + O((1-y)^{1/2})}{(1-u) \left(1 - \frac{1-y}{1-u}\right)} \right] (1 + O(1-y)) = \\ &= \frac{4u\Delta(q, u)}{(1-y)(1-u)^2} + O_u((1-y)^{-1/2}), \\ &= \frac{1}{1-y} \frac{A_1(u)}{2} + O_u((1-y)^{-1/2}), \quad (y \rightarrow 1-) \end{aligned}$$

and therefore by Darboux's theorem

$$\alpha_1(j) - \alpha_{s+1}(j) = \frac{\alpha_1(s)}{2} + O(j^{-1/2}), \quad (j \rightarrow \infty).$$

Observing (1.1) the result is now immediate. ■

Remark. The exact value of $\alpha_1(s)$ follows from Kemp [11, (37a)] resp. our generating function (2.24) to be

$$(3.6) \quad \alpha_1(s) = \frac{4}{3}(s+2) - \frac{16}{9} S(s) \quad \text{where} \quad S(s) = \sum_{j=1}^{s-1} \sum_{k=1}^{j-1} \frac{1}{k(k+1)} 3^{-k} P'_k\left(\frac{5}{3}\right)$$

(P'_k denotes the derivative of the k -th Legendre polynomial).

Corollary 2 implies

$$(3.7) \quad \varrho_s = \frac{1}{3} + \frac{2}{3}s - \frac{8}{9} S(s).$$

The values computed by the asymptotic formula (3.5) coincide even for small s very well with the exact values computed by (3.6) and (3.7):

s	ϱ_s (exact value)	ϱ_s (asymptotic formula)
1	1.0000	1.0958
2	1.6667	1.7567
3	2.1852	2.2640
4	2.6214	2.6915
5	3.0046	3.0682
6	3.3502	3.4088
7	3.6673	3.7220
8	3.9622	4.0135
9	4.2387	4.2873
10	4.5000	4.5463

References

- [1] N. G. DE BRUIJN, D. E. KNUTH and S. O. RICE, The average height of planted plane trees, in: *Graph theory and computing* (R. C. Read, ed.) Academic Press, New York—London, (1972), 15—22.
- [2] L. COMTET, *Advanced Combinatorics*, Cloth Edition, D. Reidel, Dordrecht, (1974).
- [3] PH. FLAJOLET, *Analyse d'algorithmes de manipulation d'arbres et de fichiers*, Thèse Paris—Sud—Orsay, (1979).
- [4] PH. FLAJOLET and A. ODLYZKO, Exploring binary trees and other simple trees, In: *Proc. of the 21st Annual Symposium on Foundations of Computer Science*, Syracuse, (1980), 207—216.
- [5] PH. FLAJOLET and A. ODLYZKO, The average height of binary trees and other simple trees. *INRIA Rapports de Recherche* 56 (1981); also: *J. Comput. System Sci.*, to appear.
- [6] PH. FLAJOLET and J. M. STEYAERT, On the analysis of tree matching algorithms, In: *7th ICALP Conf. Amsterdam*, (1980).
- [7] F. HARARY and E. M. PALMER, *Graphical Enumeration*, Academic Press, New York—London, (1973).
- [8] R. KEMP, On the average stack size of regularly distributed binary trees, In: *6th ICALP Conf. Graz*, (1979), 340—355.
- [9] R. KEMP, A note on the stack size of regularly distributed binary trees. *BIT* 20, (1980), 157—163.
- [10] R. KEMP, The average height of r -tuply rooted planted plane trees. *Computing* 25, (1980), 209—232.
- [11] R. KEMP, On the average oscillation of a stack, *Combinatorica*, 2 (2) (1982) 157—176.
- [12] R. KEMP, The average height of planted plane trees with m leaves, *preprint*, (1981).
- [13] P. KIRSCHENHOFER, On the average shape of monotonically labelled tree structures, *preprint*, TU Wien, Austria, (1981).
- [14] P. KIRSCHENHOFER and H. PRODINGER, On the average height of monotonically labelled binary trees, presented at: *6th Hungarian Colloquium on Combinatorics*, Eger, (1981).
- [15] A. MEIR and J. W. MOON, On the altitude of nodes in random trees, *Canad. J. of Math.*, 30, (1978), 997—1015.
- [16] A. ODLYZKO, Periodic oscillations of coefficients of power series that satisfy functional equations, *to appear*, (1979).
- [17] H. PRODINGER, The average height of a stack where three operations are allowed and some related problems, *J. Comb. Inf. Syst. Sci.* 5, (1980), 287—304.
- [18] H. PRODINGER, A note on a result of R. Kemp on r -tuply rooted planted plane trees, *Computing*, 28, (1982), 363—366.
- [19] H. PRODINGER and F. J. URBANEK, On monotone functions of tree structures, *Discr. Appl. Math.*, to appear, (1981).
- [20] F. RUSKEY, On the average shape of binary trees, *SIAM J. Alg. Disc. Meth.* 1, (1980), 43—50.

Peter Kirschenhofer and Helmut Prodinger

Institut für Algebra und Diskrete Mathematik
 TU Wien, Gußhausstraße 27—29,
 A—1040 Wien, Austria